Answer Key


Name: ____________________ (     )
Class: ____________________
Percentage Revision

Question 1:

Daniel paid $588.50 for a Nintendo Wii System.  This amount included 7% Goods and
Service Tax (GST).  How much GST did Daniel pay?

[Answer Key]

$38.50

[Solution]
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Question 2:

The usual price of an airline ticket is $420, inclusive of 7% GST.

(a) Find the price of the airline ticket before GST.

(b) Find the percentage decrease in its usual price if the price drops to $294 during a
sales promotion.

[Answer Key]

(a)  $392.52          (b)  30%
Question 3:

A florist bought 300 lilies at $24 per dozen.

(a) How much did she have to pay in total?

(b) If she sold them at $2.50 each, find her profit as a percentage of the cost price.

(c) After selling 180 lilies, the florist decided to sell the remaining flowers at 12% off the
marked price.  What is her percentage profit for this sale?

(d) A customer purchased a bouquet of 7 stalks of lilies from the florist, at $2.50 each.
The florist charged an additional 35% of the total price for packaging of the flowers.
How much did the customer pay for the bouquet of lilies?  Give your answer correct
to the nearest dollar.

[Answer Key]

(a)  $600          (b)  25%          (c)  19%          (d)  $24
Question 4:

In 2005, Sue’s monthly pay was $3200 and Ben’s monthly pay was $4000.

(a) Calculate Sue’s monthly pay compared to Ben’s monthly pay as a percentage.

(b) In 2006, Sue received a salary increase of $480.  Find the percentage increase in
salary.

(c) Ben saves 25% of his salary each month.  Calculate the amount of money Ben saves
in 3 months.

[Answer Key]

(a)  80%          (b)  15%          (c)  $3000
Question 5:

In 2006, there are altogether 180 students in the school band.  81 of them are girls.

(a) What percentage of the students in the school band are boys?

(b) In 2007, the school plans to increase the number of students in the school band by
35%.  How many students are expected to be in the school band in 2007?

(c) If there are 252 students in the school band in 2007, what is the percentage decrease
or increase of the number of students in the school band compared to 2006?

(d) In 2008, the school hopes to have 25% of the band members to be girls.
Given that there will be 63 girls in the school band, find the total number of students
in the school band.

[Answer Key]

(a)  55%          (b)  243 students           (c)  40%           (d)  252 students

[Solution]
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(b)  
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63 + 180 = 243 students

(c)  
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(d)
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Question 6:

The Straits Times Index (STI) fluctuated due to volatile market conditions caused by the

sub-prime mortgage crisis in the United States of America.  The table below shows the

closing value of the STI on 3 different days.
	20th Aug 2007
	3322.38

	11th Oct 2007
	3875.77

	13th Mar 2008
	2805.55


(a) What was the percentage increase in STI from 20th Aug 2007 to 11th Oct 2007?
Give your answer correct to 1 decimal place.
(b) What was the percentage decrease in STI from 11th Oct 2007 to 13th March 2008?
Give your answer correct to 3 significant figures.

[Answer Key]

(a)  16.7%          (b)  27.6%

[Solution]

(a)  
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(b)
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Question 7:

Amanda earned $3600 per month in 2006.

(a) If she spends $1100 on clothes, $530 on food, $242 on transport and saves the
remaining, what fraction of her salary did she save?
(b) In 2007, Amanda had a salary increase of 15%, calculate the new salary that
Amanda earns.
(c) In 2008, there is a pay cut of 12% in Amanda’s salary.
(i) Find her salary in 2008.
(ii) State whether it is higher than, lower than or equal to her salary in 2006.
(iii) Calculate the percentage increase or decrease from 2006 to 2008.
Solution:
a) Fraction = 
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b) 

New salary in 2007
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ci) 
Salary in 2008
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cii) 

It is higher than her salary in 2006.

ciii) 

Percentage increase
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